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Word of the Day

TARNISH e Z\WA ‘ [ ons

. . e \
To lose or cause to lose its shine, luster, or brilliance due

—

to exposure to air, moisture, %ofher factors.

Synonyms : Dull, Fade, Stain, Discolor, Corrode,
Oxidize. -

Antonyms : Polish, Shine, Brighten, Enhance,
Sentence: The silverware}zfd begun to tarnish after
being left out in the open for too lohg.
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THOUGHT OF THE DAY '
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Read each sentence to find out whether there 1s any
error 1n 1t. The error, i1f any, will be 1n one part of the
sentence. Mark the part with the error as your answer.
If there 1s no error, mark "No Error" as your answer.

(Ignore the errors of punctuation).



Answer : ‘being’ instead of

‘been’




ﬁ\q
DID YOU
KNOW?

Q2. The company achieved the six lakh-cumulative sales

milestone in November 2022 and(takef only five months to

e

sell the subsequent one lakh units to crpss the seven lakh-

mark.

Answer : ‘took’ in place of

‘taken”




Q3. Tokyo College, founded 1n 2019, connects the

University of Toky (@ esearchers and institutions abroad,
including College de France. s O

- Answer : ‘With’ instead of ‘to’
DID YOU

KNOW?




Q4. The commission has opened centres in all

Anganwadi kendras and also 1n different PDS outlets

where people fro@an submy

and complete the survey.

1ts details

Answer : ‘their’ in place of

‘its’




Q5. CEOs 1n India must be able t@i these changes,
innovate and implement new strategies to keep their

companies relevant and competitive.

M\/

Answer : ‘Ald?ﬁ’ in place of
853

\\"/

—




In the sentence given below, an idiom/phrasal verb has

\

been highlighted in bold. Given below it are five

. / . .
options, out of which you need to find the one which

has the same meaning as the idiom/phrasal verb used in
the sentence and can successfully replace the
1diom/phrasal verb without changing the meaning of the

sentence.



RN
. Q6. It also reveals their sheer despondency as even the
Oversight Committee led by Olympian Mary Kom set to

clean down the system, has not yielded any results.

Clean off

Clean out

Clean away
Clean up : the process of

removing dirt or other bad

things from a place

No correction Required

/—_\




Q7. Brij Bhushan may ha@rom the day-to-day
functioning of the WFI but this sports administrator, essentially
a BJP MP from Uttar Pradesh, has enough clout to stymie efforts

to prise him out from the federation.

Stepped in

Stepped out

Stepped down

Stepped aside : leave
Stepped at

official position or job.
’\—_—/

No correction required
—

 Steppedin
 Steppedout
 Steppeddown
o e |




R\
. Q8. With the Maoists known to ramp up attacks on security
forces before the onset of the monsoon season, the killings

suggest a failure in anticipating such an attack.

Ramp up

Ramp down

Ramp up : increase the
\

Ramp at level or amount of

something sharply.

No correction required




Q9. Unless this is done in unequivocal terms, any other

move to tone in the system will fall short.

o
Gl

N (of a person or bod
DID YOU “ part) became stronger or

KNOW?
No Correction required

firmer.
-




Q10. At the same time, the government should ponder up the
efficacy of the existing system concerning the sale and use of
river sand. It also needs to strengthen the regulatory

mechanism.

Ponder about

Ponder over

Ponder up

Ponder over — To

Ponder at —

think about —

No Correction required




Fill in the blanks with appropriate words from the

options.



Q11. The offset clause requires a foreign vendor to a part of

the contract value 1in India.

A. Ignore

B. Interfere
cmeis/

D. Upgrade /
E. None of these

Answer : Option C




Q12. On the Rafale deal, the CAG said the offset obligations
were to kick 1n September 2019.

E. None of these

Answer : Option B



Q13. The policy amended 1 2015, which came 1nto effect on April 1,

2016, did not the commercial evaluation part of it.

A. Have
B. Post

C. Take /
gl E. None of these
Answer : Option D




Q14. Both cooperative and private dairies fix the purchase price of

milk on 1ts fat and solids-not-fat content.

A. Decide

C. Pointed

D. Focus
W\l E. None of these

Answer : Option B



Q15. Al 1s about seeing like a computer, but @like a human
being. Nl

—_— N

A. Looking
B. Imitating
C. Enhancing

b hmaying.

E. None of these

Answer : Option D




Directions: In the following sentence, five words are
given 1n bold, out of which one word 1s misspelled.

Find the misspelled word.



Q16. One of the most prystine Shola ecosystems 1n the

Nilgiris, Avalanche has been decimated by rains and landslips.

Decimated

~
(J JLPptine
Ecosystems

Landslips

No Error

| peimaed
(J grasined
| Beotens
| Lmdies
_ NoEror




Q17.In 1914, a group of lawyers headed by KS

Arthanareeswara Apyer aproached the then collector of

\

Coimbatore with aTequest to grant them land to build their

homes.

Grant
Aibroachet
<]

Collector




Q18. Members of the automated teller machine (ATM)

industry have blamed ba supplying adequate cash

which has resulted in the acute shortage of cash in several

parts of the country this month .

()@

No Error

-Q Short Instead of ‘of’




Q19. In keeping with the technology and innovation theme of the

visit, events will be pegged around this, including a visit to the
Science Museum,/currefithome for Illuminating India, focused on
5,000 years of science and innovation in the country.

Innovation

o

Illuminating

Focused

Currently

No Error



Q20. The long-term challenge 1s to make the much of the rainfall

that India 1s getting, ranging from a few hundrer
less in the northwest to more than a few thousan

elsewhere.

Much M\\
Rainfall /\Z\)\)‘}/w

Elsewhere

No Error




In the following passage there are blanks, each of
which has been numbered. These numbers are printed
below the passage and against each five words are
suggested, one of which fits the blank appropriately.

Find out the appropriate wo h case.




The country’s telecom subscriber base............. (1) crossed the 500 — million
mark and the growth milestone has been ......... (2) 15 months ahead of target.
The country had set a target ....... (3) reaching this number .......... (4) the end
of 2010, but 1t crossed the mark in September 2009 itself. The number of
telephone subscribers in India........ (5) to 509.03 million at the end of
September 2009 from 494.07 million in August 2009 .......... (6) a growth rate
ot 3.03 per cent. As per the official declaration ot TRAI, the set........... (7) of

010 was achieved by September

500 million telephones by the end ¢

This takes the teledensity tgZ cent 1n a country. Wireless
Teledensity............. (8) at 40.31. Mobile operators added 15.1 million users
in August 2009. India is now the second — biggest market .......... (9) wireles
services, @ng only Chinga, which has more than 600 million users, and 1s
the........... (10) — growing market in the world.

/




Q21. The country’s telecom subscriber
base............. (1) crossed the 500 — million mark
and the growth milestone has been ......... (2) 15

months ahead of target.

. Had been

. None of these

Answer : Option B




Q22. The country’s telecom subscriber base.............
(1) crossed the 500 — million mark and the growth

milestone has been ......... (2) 15 months ahead of target.

. Targetted

. Accomplished/
. Marked yd

. None of these

Answer : Option A




Q23. The country had set a target ....... (3) reaching this
number .......... (4) the end of 2010, but 1t crossed the
mark in September 2009 itself.

Answer : Option C



Q24. The country had set a target

(3) reaching this

number .......... (4) the end of 2010, but 1t crossed the

mark in September 2009 itself.

Answer : Option D



Q25. The number of telephone subscribers in India........
(5) to 509.03 million at the end of September 2009 from

494.07 million in August 2009 .......... (6) a growth rate
of 3.03 per cent.

. Enhanced

. Decreased

. Grow

. None of these Answer : Option A




Q26. The number of telephone subscribers in India........
(5) to 509.03 million at the end of September 2009 from
494.07 million in August 2009 .......... (6) a growth rate

of 3.03 per cent.

A. Making
B. Registered

D. Made

E. None of these Answer : Option C




Q27. As per the official declaration of TRALI, the
set........... (7) of 500 million telephones by the end of
2010 was achieved by September 2009.

A. Milestone

(rw

C. Parable

D. Achievement

E. None of these Answer : Option B




Q28. Wireless Teledensity............. (8) at 40.31.

Mobile operators added 15.1 million users in August
20009.

. Stands
. Standing

. Is stand

Have stand

. None of these Answer : Option A



Q29. Mobile operators added 15.1 million users in August

2009. India 1s now the second — biggest market ........... (9)
wireless services, lagging only China, which has more than 600
million users, and is the........... (10) — growing market in the
world.

Answer : Option D



Q30. Mobile operators added 15.1 million users in August

2009. India is now the second — biggest market ........... 9)
wireless services, lagging only China, which has more than 600
million users, and 1s the........... (10) — growing market in the
world.

D. Most fast

E. None of these Answer : Option A




QUESTION OF THE DAY

Choose the SIMILAR of the word

‘REELING

walking in a definite directic

destroying repeatee
loosing balance é@vvym@v\]%

continuously raising

None of these






